
�������� ��������	��� 
��	�������

�
��� ��������
���������
x
n � ��������������� �� ��������!� ������" �#

��� $
%&'&(& ))*)* +, -./0123 +3453

x
n+2 = x

n+1 + 20x
n �

x0 = 4 � x1 = 11.

%&'&(& ))*6 * 7 0,58 +94 :;

x
n+2 = x

n+1 + 12x
n �

x0 = 1 � x1 = 11.

%&'&(& ))*< * 7 -, 5=/58 >-59 ?2@

x
n+2 = x

n+1 + 6x
n �

x0 = 2 � x1 = 5.

%&'&(& ))*A * >2,B; 0358 7=, 04

x
n+2 = x

n+1 + 2x
n �

x0 = −1 � x1 = 5.

%&'&(& ))*C * D ?59 58 E /-85, 5F

x
n+2 = 5x

n+1 − 6x
n �

x0 = 2 � x1 = 11.

%&'&(& ))*G * H =908, -80 +30/40/2I

x
n+2 = 3x

n+1 − 2x
n �

x0 = 2 � x1 = −2.

%&'&(& ))*J* K 0; -358/.2@ L -32/

x
n+2 = 5x

n+1 − 6x
n �

x0 = −2 � x1 = −2.

%&'&(& ))*M * N - +3B L O.

x
n+2 = 7x

n+1 − 12x
n �

x0 = −3 � x1 = −2.

%&'&(& ))*P * N =.0323 +, -./03F9

x
n+2 = 9x

n+1 − 20x
n �

x0 = 3 � x1 = −2.

%&'&(& ))*)Q * R12409I3 L 082F

x
n+2 = 11x

n+1 − 30x
n �

x0 = −1 � x1 = 3.

%&'&(& ))*))* S9 53-T.23 L ;249 2@

x
n+2 = −7x

n+1 − 12x
n �

x0 = 1 � x1 = 2.

%&'&(& ))*)6 * U-; -358 L ; 249 2@

x
n+2 = −5x

n+1 − 6x
n �

x0 = 3 � x1 = 11.

%&'&(& ))*)< * U-9 ?--8 K 53/403423

x
n+2 = −3x

n+1 − 2x
n �

x0 = 5 � x1 = 1.

%&'&(& ))*)A * V.0T EIT-/, 08

x
n+2 = 2x

n+1 + 3x
n �

x0 = −3 � x1 = 1.



%&'&(& ))*)C * W0F--80 E -9 532.0

x
n+2 = 3x

n+1 − 2x
n �

x0 = 1 � x1 = 11.

%&'&(& ))*)G * X-9 3OY -8 D ?59

x
n+2 = 3x

n+1 − 2x
n �

x0 = 5 � x1 = −2.

%&'&(& ))*)J* X29090 Z 0; 2F

x
n+2 = 5x

n+1 − 6x
n �

x0 = 1 � x1 = −2.

%&'&(& ))*)M * [ -Y=.58 K 29 2,,

x
n+2 = 7x

n+1 − 12x
n �

x0 = 5 � x1 = 11.


